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Instructions to Candidates

Do not write your name or put any other mark of identification anywhere in the OMR Answer Sheet. IF ANY MARK OF
IDENTIFICATIONS IS DISCOVERED ANYWHERE IN OMR ANSWER SHEET, the OMR sheet will be cancelled,
and will not be evaluated. -

This Question Booklet contains this cover page and a total of 100 Multiple Choice Questions of Imark. Space for rough work
has been provided at the beginning and end. Available space on each page may also be used for rough work.

Each correct answer carmies one mark.

There is negative marking for Multiple Choice Questions. For each wrong answer, 0.25 marks will be deducted.

USE OF CALCULATOR IS NOT PERMITTED. Y :
USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone, iPad, pager ETC. is not permitted.

Candidate should check the serial order of questions at the beginning of the test. If any qucstihn is found missing in the senal
order, it should be immediately brought to the notice of the Invigilator. No pages should be torn out from this question booklet.

Answers must be marked in the OMR answer sheet which is provided separately. OMR answer sheet must be handed over to
the invigilator before you leave the scat. ) :

The OMR answer sheet should not be folded or wrinkled: The folded or wrinkled OMR/Answer Sheet will not be evaluated.

‘Write your Roll Number in the appropriate space (above) and on the OMR Answer Sheet. Any other details, i asked for,

should be written only in the space provided.

There are four alternative answers to each question marked A, B, C and D. Sclect one of the answers you consider most
appropriate and fill up the corresponding ovalicircle in the OMR Answer Sheet provided to you. The correct procedure for
filling up the OMR Answer Sheet is mentioned below.

Use Black or Blue Ball Pen only for filling the ovals/circles in OMR Answer Sheet while answenng the Questions. For your
Choice of answers darken the correct oval/circle completely, If the correct answer is *B’, the corresponding oval/circle should
be completely fill and darkened as shown below.
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SECTION 1 (ENGLISH)

“or Questions No. 1 to 3, choose the best answer from the given options:

1. The employees were unhappy because their salary was not increased .o
A) Marginally C) Abruptiv e
B) Substantially D) Superfluously

2. The judge ...... him because he was found .......
A) Acquitted, Criminal
B) Punished, Guilty

on the basis of the evidence.
C) Sentenced, Innocent
D) Suspended, Involved

3. John iS00 ..ueren as far as his food habits are concerned.
A) Fastidious C) Involved
B) Interesting * D) Curious

Question Nos. 4 to 6 tests your ability to recognize grammar and usage errors. In each of the

questions given below, a sentence is broken into four parts which are marked a, b, cand d. One of

them may be grammatically or structurally wrong in the context of the sentence. ldentify the
wrong statement. In choosing the answer,

follow the requirements of Standard English.

4. A)Even after worked in the office C) He still doesn't understand

B) For as many as fifteen years D) The basic objectives of the
work.

5. A) Theinterviewer asked the C) Manage to attain fame

actress
B) How she D) Inashort period.
6. A) He said that C) With
B) Hehada difference D) The chairman at his statement.

For Question Nos. 7 to 9, choose phrase given in the options whi

ch should replace the phrase
printed in bold type to make the sentence grammatically correct.

7. The long or short nf itis that | do not want to deal with that new firm.

A) Thelong and short of it C) The long or short forit
B) The long and short for it D) The short and long of it
8. My hair stood off ends when | saw the horrible sight
A) Stood at ends C) Stood on ends
B) Stood to ends D) Stand on ends
9, For some days, ihe new professor lectured above the heads of his pupils.
A) Over the head of () Over the heads of
B) On the heads of D) Through the heads of
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For Question Nos. 10-12, choose the option which best expresses the meaning of the given word

10. CANTANKEROUS
" A)Rash
B} Disrespectful

11. RABBLE
A} Mob
B} Erase

12. SALACITY
A) Bliss
B) Indecency

C) Quarrelsome
D) Noisy

C) Roar
D) Rubbish

C) Depression
D) Urban

For Question Nos. 13-17, choose the option which is the exact opposite of the given word

13.FICKLE
A) Courageous
B} Steadfast

14. SUBSERVIENT
A) Aggressive
B) Dignified

15. METICULOUS
A) Mutual
B) Slovenly

16. GREGARIQUS
A) Antisocial
B} Affable

17. GULLIBLE
A) Easy
B} Incredulous

C) Sincere
D) Humble

C) Straightforward
D) Submissive

C) Shaggy
D) Ridiculous

C) Horrendous
D) Similar

C) Stylish
D) Fickle

In question No 18, for the given idiom/ phrases, choose the option which gives their correct

meaning

18. In the same boat
A) A worn out choice

B) In identical circumstances.

ABO05/1
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For question No 19-20, rearrange the following sentences In the proper sequence to forma
meaningful paragraph and answer the questlons

Ireached at 11 o'clock after sending the money
Some money had to be sent to my parents

After that, | spent almost an hour at the post office
Therefore, | went to bank te withdraw some money
However, | had no money with me

I

19. Which statement should come first in the paragraph?
A}l C)2
B)3 D)4

20, Which statement should come last?
A)1 Q)2
B)3 D) 4

SECTION 2 (GENERAL AWARENESS)

21. Indiaisa

A) Sovereign, Socialist, Republic

B) Sovereign, Socialist, Secular, Democratic, Republic
C) Sovereign, Democratic, Secular, Republic

D) Soverelgn, Socialist , Secular, Republic

22, As an alternative to the partition of India, Gandhi ji suggested to Mountbatten that he

A) Postpone granting of independence
B) Invite Jinnah to form the government

C) Invite Nehru and Jinnah to form the government together
D) Invite the army to take over for some time

23. The first writer to use Urdu as the medium of poetic expression was

A) Amir Khusrau C) Bahadur Shah Zafar
B) Mirza Ghalib D) Faiz

24, Israel has common borders with

A) Lebanon, Syria, Jordan and C) Cyprus, Turkey, Jordan and
Egypt Egypt

B) Lebanon, Syria, Turkey and D) Turkey, Syria, Irag and Yemen
Jordan

25. The currency of the European Monetary Union is:

A) Dollar C) Guilder
B)Euro D) Mark
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26. Economic Survey in India is published officially, every year by the

A) Reserve Bank of India C) Ministry of Finance, Govt.
of India
B) Planning Commission of D) Ministry of Industries,
India Govt. of India

27. Tourism Industry in India is quite small compared to many other countries in terms of
India’s potential and size, Which one of the following statements is correct in this regard?

A) Distances in India are too far apart and its luxury hotels are too expensive
for western tourists

B) For most of the months India is too hot for western tourists to feel
comfortable

C) Most of the picturesque resorts in India such as in the North-East and
Kashmir are, for all practical purposes, out of bounds

D) In India, the infrastructure required for attracting tourists is inadequate

28. Which of the following cricketers holds the record, for the highest score in a Cricket Test Match
innings by an Indian?

A) Sunil Gavaskar C) Sachin Tendulkar
B) Vinoo Mankad D) V.V.S Laxman

29. Who among the following is not a recipient of the Bharat Ratna Award?

A} Ustad Bismillah Khan () Lata Mangeshkar
B) Satyajit Ray D) Dilip Kumar

30, The Prime Minister of India, at the time of his/her appointment
A) Need not necessarily be a member of one of the Houses of the Parliament
but must become a member of one of the Houses within six montbhs.
B) Need not necessarily be a member of ane of the Houses of the Parliament
but must become a member of the Lok Sabha within six months.
C) Must be a member of one of the Houses of the Parliament
D) Must be a member of the Lok Sabha

31. Which one of the following statements is not correct?
A) Gujarat has the longest coastline in India. )
B) Indira Gandhi Canal is the longest canal in India. .
C) Kaharbude is the longest tunnel in India.
D) Kovalam is the longest sea-beach in India.

32. Consider the following statements and select the correct answer using the code given below:

1. The Greater Himalayas receive more rainfall than that of the Lesser Himalayas.
2. The rate of environmental degradation is more in the Lesser Himalayas than that of the
Greater Himalayas.
Code:
A) Only 1 is correct C) Both 1 and 2 are correct
B) Only 2 is correct D) Neither 1 nor 2 is correct
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33. Which one of the following states has the highest coal reserves?

A) Andhra Pradesh C) Jharkhand
B) Chhattisgarh D) Madhya Pradesh

34. Which one of the following is the longest National Highway (NH) of India?

A) NH-5 C) NH-7
B) NH-6 D) NH-8

35. The Headquarters of the Central Water Transport Corporation islocated at:

A} Bangalore C) Hyderabad
B} Hubli D) Secundrabad

36. The highest percentage of scheduled castes population is in the state of:

A) Haryana C) Punjab
B) Himachal Pradesh D) West Bengal

37. The lowest female literacy rate is in the state of:

A) Bihar C) Rajasthan
B) Jharkhand D) Uttar Pradesh

38. Which one of the following is not the objective of the Integrated Rural Development?
A) To promote employment among the graduates.
B) To provide assistance in self employment opportunities,
C) To give assistance to a target group of rural poor.
D) The target group includes marginal and small farmers,

39. Whose autobiography is subtitled as Substance and Shadow?

A) AP] Abdul Kalam C) Dev Anand
B) Dilip Kumar D) Atal Bihari Vajpayee

40, The Capital of recently created Telangana State is:

A) Amravati C) Vijayawada
B) Hyderabad . D) Guntur

41. Cultural and Educational Rights are mentioned in:

A) Article 28 & 29 C) Article 30 & 31
B) Article 29 & 30 D) Article 28,29 & 30

42. Which article deals with the special status of Kashmir?

" A) Article 356 C) Article 370
B} Article 352 D) Article 368
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43. Which one of the following is not the organ of the Government?

A) Democracy C) Executive
B) Legislature D} Judiciary
44. Who served as the acting Prime minister of India:
A) Pandit Jawahartal Nehru C) Gulzari Lal Nanda
B) Lal Bahadur Shastri D) Rajiv Gandhi

45. Who is the author of the book Wings Of Fire?

A) Pandit Jawaharlal Nehru C) AP] Abdul Kalam
B} Maulana Abul Kalam Azad D) None of these

46. A rise in 'SENSEX’ means
A) a rise in prices of shares of all companies registered with Bombay Stock
Exchange

B) a rise in prices of shares of all companies registered with National Stock
Exchange

C) an overall rise in prices of shares of group of companies registered with
Bombay Stock Exchange

D) a rise in prices of shares of all companies belonging to a group of
companies registered with Bombay Stock Exchange.

47. Zayed bin Sultan-al-Nahyan was a long serving President of which of the following?

A) Oman CJ' United Arab Emirates
B} Kuwait D) Saudi Arabia

48. Consider the following statements:

1. There are no east flowing rivers in Kerala. -
2 There are no west flowing rivers in Madhya Pradesh.

Which of the statements given above is/are correct?
A) 1only C) Both1and 2 ]
B} Zonly . D) Neither 1 nor 2 j

49. The term of the Lok Sabha

A) Cannot be extended under any circumstances
B) Can be extended by six months at a time
C) Can be extended by one year at a time during the proclamation of

emergency
D) Can be extended for two years at a time during the proclamation of
emergency
ABO05/1 SET A 2016
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50, Who among the followlng was the first Bhakl saint to use Hindl for the propagation of his

message?
A) Dadu C) Ramananda
B) Kabir D) Tulsidas

51. Match List-1 with List-ll and select the correct answer using the codes given below the lists:

List-] (National Park/Wilf-life Sanctuary) List-11 (State)
a) Bondla Wildlife Sanctuary 1) Orissa
b) Kangerghat National Park 2) Assam
¢) Orang Sanctuary 3) Chhattisgarh
d) Ushakothi Wildlife Sanctuary 4) Goa
j 5) Tripura
! a b ¢ d
| A) 2 1 5 3
B) 4 3 2 1
Qg 2 3 5 1
D) 4 1 2 3

52. Which one of the following is the correct statement?

Service tax isa/an

A) Direct tax levied by the Central Government
B) Indirect tax levied by the Central Government
C) Direct tax levied by the State Government

D) Indirect tax levied by the State Government

53. Which one of the following is known as the Shrimp Capital of India?

A) Chennai C) Nagapattinam
B) Machilipatnam D) Nellore

54, India has beta_n described by the Constitution as:

L A) A;Féderation of States C) A Union of States
] B) Quasi-federal D) None of these
55. Which of the following States border Uttar Pradesh?
1. Punjab 2. Rajasthan
3. Chhattisgarh 4, Jharkhand
Select the correct answer using the codes given below:
A)1,2,3and 4 C)land4
B)2,3and 4 D)1and3

56. The Constitution of India has provided for
A) Single citizenship C) Double citizenship
B) Multiple citizenship D) Nane of these )
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57, Among the followIng citles, which one Is nearest to the Tropic of Cancer?

A) Delhi C) Jodhpur
BY Kolkata D) Nagpur

58. Which one of the following is the leading producer of coffee in India?

A) Andhra Pradesh C) Kerala :
B) Karnataka D} Tamil Nadu

59, Which one of the following states has the highest percentage of the forest area?

A} Arunachal Pradesh C) Nagaland
B) Mizoram D) Tripura

60, Consider the following statements and select the correct answer using the code given below:

1. Odisha is the leading producer of manganese.
2. Karnataka is the leading producer of iron-ore.
Code:

A} Only 1is correct C) Both 1 and 2 are correct
B) Only 2 is correct D) Neither 1 nor 2 is correct
SECTION 3 (REASONING)
For Question No 61-63, study the following information and answer the questions given below:

61. Pointing to a lady in the photograph, Ram said, “Her son's father is the son-in-law of my mother”.
How is Ram related to the lady?

A) Sister C) Aunt
B} Mother D) Cousin

62. A man has two wives A and B. A is Sunny’s step-mother. How is Sunny related to B?

A) Step daughter C) Sister-in-law
B) Son D) Husband
63. Find the odd one out: . .
A) Fish C) Frog
B} Crocodile ' D) Turtle

64. Find out the odd one out:

A) Heart: Lungs : Kidneys C) Pen: Pencil: Bucket
B} Mobile: Laptops: Computer D) House: Cottage: Hostel

65. Find the odd one out:

A) Sahara: Africa Q) Thar : India
B) Kalahari: America D) Gobi : Mongolia

ABO05/1 SET A 2016
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66. Find the wrong termin the series 7, 11, 13, 15, 19,23:

A) 13 ) 15
B) 19 D) 23

67. Find the wrong term in the series 2, 10, 50, 260, 1250, 6250:

A) 50 C) 260
B) 10 D} 1250

68. If FRANCE is coded as NCEFRA and CANADA as ADACAN, then how will you code MEDICINE?

A) CNIEMEDI C) CINEMEDI
B) CINEDEMI D) CINEDEIM

69. If code for NAME is 13261422, then what will be the code for TEAM?

A) 7222614 C) 1426227
B) 7262214 D) 7142622
70. The following four words are arranged in alphabetical order, which word will come at the second
place?
A) Electric C) Elector
B) Elect D) Electrode

71. Select the combination of numbers, so that the letters arranged will form a meaningful word. '

HNRCAB __ L
1 23456 .
A 2,523,416 C.3,5641,2
B. 4,1,56,23 D.6,3,5241

72.How many meaningful English words can be formed by using the letters of the word

‘ALEP7?
A) One C) Two

B) Three D) More than three

73.A girl was going towards West, and then she turned left, then turned 90 degrees in
clockwise direction. In which direction was she going now?
A) East C) West
B) North D) None of these

74. The mean weekly pay for ten persons equals to Rs. 100. If one of the person gets a hike of
Rs. 10 per week, what is the new mean weekly pay?

A) Rs.99 C) Rs.101
B) Rs. 200 D) Rs. 250
75. Find the probability that a vowel chosen at random from the 5 vowels is an T.
A) 4/5 C) 1/3
B) 1/5 D) %
ABO5/1 SET A 2016
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76. Two unbiased dice are thrown simultaneously. The probability of getting the sum divisible
by 3, is?
A) 11/36 C) 12/36
B) 13/36 D}Y17/36

77.Mean of 11 observations is 17.5. If an observation 15 is deleted, find the mean of the
remaining observations.
A) 175 C} 17.25
B) 17.75 D} None of these

78.A man borrows Rs. 12,000 at 8% simple interest for two years. He repays
Rs. 12,000 at the end of second year and balance at the end of third year. How much did he
repay at the end of third year?

A) Rs.2145.40 C) Rs.2073.60
B) Rs.2042.20 D) Rs.2130.90

79.Find the number of different ways of forming a committee consisting of 3 men and 3
women from 6 men and 5 women,
A) 30 C) 20
B} 10 D) 25

80. A stationer buys diaries at Rs. 75 per dozen and sells them at Rs. 15 per piece. What is the
profit?
A) Rs. 75 C) Rs.100
B) Rs. 105 D) Rs. 110

SECTION 4 (SOCIAL AWARENESS)

81. Indian social reality is:

A) Religious C) Multicultural .
B) Homogeneous P D) Ideological

82, The coordinal principle of Indian social order is:
A) Tolerance and Consensus C) Conflict and Consensus
B) Diversity and Conflicts D} None of these

83. Groups demanding reservation because of:
" A) Preservation of Religious Identity C) Preservation of Caste Identity

B) Discrimination D)Preservation of Linguistic
Identity
B4. The United Nations Organization was created to:
A) Promote International Peace C) To help the Developing
Countries

B) Check the Spread of Communism D} Protect the U.S. Interest

85. Who is considered to be the architect of the Indian Constitution?
A} Jawaharlal Nehru - €} Mahatma Gandhi
B} Rajendra Prasad D} B.R. Ambedkar
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86. Consider the following:
1. Right to Education
2. Right to Employment
3. Right to Food

Which of the above is/are Human Rights?

A) 1 only C) 1and 2 only

B) 3 only D)1,2and3
87.1n India, a minority is identified on the basis of

A) Religion only C)Either Religion or

Language

B} Either Language or Caste D) Either Religion or Race
B88. Which of the following is not an agency of socialization?

A) The Family C) Mass Media

B) School D) Hospital

89. The Jamia Millia Islamia was established to:
A) Protect the Interests of the Muslims
B) Protest against the British System of Education
C) Promote Muslim Education
D) All the above.

90. Inclusive growth as enunciated in the 11th Five Year Plan doesn’t include one of the
following:

A) Reduction of Poverty

B) Strengthening of Capital Markets

C) Extension of Employment Opportunities
D) Reduction of Gender Inequality

91. The aim of basic education, as per the dream of Gandhi ji is to 1. Create a Classless Society,
iL. Create a Sarvodaya Society 1lI. Create a Society Respecting all Religions IV. Create a
Society where a Rich and Poor can Live Together

A) AlLL 11,111 and IV are correct

B) StatementsIl,[l1and IV are correct.
C) Statements], Il and 11l are correct.
D) Statements], il and IV are correct.

92. Valmiki Ambedkar Awaas Yojana is meant for:
A) Fighting Caste System
B) Removal of Manual Scavenging
C) Reduction in Poverty and Increase in Employment
D) Promoting Ambedkar’s Philosophy

93, “Mann ki Baat” is meant for:

A) Promoting an Ideology C)Connecting with the Magses
B)Making Election Propaganda D} Criticizing the Opposition
ABOS/1 SET A §
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54. Nirbhaya Fund was incorporated for:

A} Meeting the Legal Expenses of the Rape Victim

B} Protecting the Dignity and Ensuring Safety of Women
C} Empowerment of Women

D) Reducing Gender Inequality

95. Who is the National Sanitation Brand Ambassdor in India?

A) Smriti Irani C) Vidya Balan
B) Hema Malini D} Najib Jung

96. Section 377 of the Indian Penal Code (IPC) is about:

A} Lesbian, Gay, Bisexual and Transgender
B) Child Labour

C) Special Status for Jammu & Kashmir

D} Sedition
97. What type of justice exists if employees are being open, honest and truthful in their
communication at work?
A} Distributive C) Interactional
B} Ethical D) Procedural

98. National Anthem was composed by:

A) Bankim Chandra Chatterjee C) Bankim Chandra Chattopadhyay
B} Bankim Chandra Mukherjee D) None of these

99. The National Language of India is:

A) Hindi ) C) Hindustani
B) English D) None of these

100. Malala Yousafzai is in the news because she:

A) Wanted to Settle down in U.S. C) Fought for Girl Education
B} Fought for Gender Equality D) Fought for Restoring Democracy
in Pakistan
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